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main( ) &—1EEI 3\

. . main()EEVaETEN BT RER
Frnctude serdte.ne TRs  TRALE N —TEE
. . 8. FENBSFERIE
R stdio.hZ 4 — (B R HFT AL
INT X2
scanf("%d",&x);
printf( "%sg",x);

return 0;
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#tinclude <stdio.h>={T >

#include <stdio.h> B/ ARIURERstdio.hER T
. e

int main() {

e includeZi&stdio.hER=ES| A

int x; 21 - B Escanf()Ed
scanf("%d",&x): printf()2R B iSstdio.h & T &=
printf("%sd",x);

return 0;
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#include <stdio.h> #include <stdio.h>

int slave();

int slave( )
int main(){ return (1+10)*10/2;
printf("%sd\n",slave()); }
return 0;
}

int main(){
int stave(){ printf("%d\n",slave());

return (1+10)*10/2; return 0;
} }
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#include <stdio.h>

1 E0Y gl 2 z0slave
int slave();
2 E[olslavedl 2N A IT4E R
int main(){ "
printf("%d\n",slave( )); 3 1%@15%_1E%§§Q¢Eﬂ

return 0;

}

int slave( )
return (1+10)*10/2;
}
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float area3(float r,float h); N0 = e

float area2(float r); 1 AL U?W?jsza/rsafi(li,h )\ ) o b
area3zx A28 - AN ERFRES

int main(){

188" Prascianal; 2  ZSRRAPVAERFECHESHERAR

int i;

for(i=1;1<=10;i++){
scanf(*%f %f*,&r,&h); 3 FEAYUBASTFEEIS—EFEZET
printf("EtiE5e1E%.2f\n" ,area3(r,h)); // 1

}

return 0;

}

71/ 2
float area3(float r,float h){
return area2(r)*h;

A F =00 —1E B 1 52 5
BRIk area3() - BH

} | s R
area3()EIUETEMEIER T
( W area?2() - MSEAkASTEETE -
oat area2(float r O —n \ e s — +
p=3.14; *EEEE_”//(E%EET—I].OA
return 3.14*r*r; ®
}
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#include <stdio.h>

void| crazyprint(); voidfXFT:2EE[OE

int main(){
int i,n;
scanf("%d",&n);
for(i=1;i<=n;i++){
crazyprint();

ERBEIRINNTGE - B—
{Ecrazyprint()EAT0 - EDH" Bt
ZalEN - FEREITSIE"

MA—EEEN - AREIERE,
}

return 0;

}

void crazyprint(){
printf("RTEZEIEI - FEFREIIIEN");
}
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#include <stdio.h>

float area3(float r

float area2(float

int main(){

Tloat p=3.14,r,h;

,float h);
r)s

(e
for(i=1;1<=10; 1++){
(2 f f & ,&h);
>r1wtf( [E]1F 5 %.2T\n"
}
return 0;
}
12

float area3(float r,float h){

return area2(r

}

7/
float area2(float
p=3.14;

)*h;

r){

return 3.14*r*r;
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#include <stdio.h>

PR . int x,y; | EIHEE
Em‘c%ﬁﬁ RAEW/NERIEERAEE | -
int gcd(|int x,int y){ FiyEEE]

intr=x%y;
while(r!=0){

- {ERRH : X =3
2N ERRAREIHER e

}

return vy;

o FEIVFHYEATER VAR O] LU }
int lem(){
return x * y / gcd(x,y);

int main() {
cin>>x>>y;
cout<<lcm( )<<endl;
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